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SI. No. G-DTN-M-TLSA 

SANSKRIT 
Paper I 

(Literature) 

Time Allowed : Three Hours 

 

Maximum Marks : 300 

INSTRUCTIONS 
Candidates should attempt Question Nos. 1 and 5 

which are compulsory, and any three of the 
remaining questions, selecting at least one 

question from each Section. 
The number of marks carried by each question 

is indicated at the end of the question. 
Question Nos. 1, 5 and 8 must be answered in 
Sanskrit and the remaining questions must be 

answered either in Sanskrit or in the medium of 
examination specified in the Admission Certificate 

issued to you. 
Answers written in Sanskrit must be in 

Devanagari script 
Important : Whenever a Question is being 
attempted, all its parts/sub-parts must be 

attempted contiguously. This means that before 
moving on to the next Question to be 

attempted, candidates must finish attempting all 
parts/sub-parts of the previous Question 
attempted. This is to be strictly followed. 

Pages left blank in the answer-book are to be 
clearly struck out in ink. Any answers that 

follow pages left blank may not be given credit. 



Section 'A' 

1. arakWa-r: Tr47gf. tittpri Effr}.)-zir: I 	1x3=3 

(a) (i) ittrE-9ttnitdidi quit stirielqi: I 

(ii) wr dl-nr ? (114;4440 

(no q 11:414 	T4aTI:1— 

fiTGE4 11*cid I 

(b) 3rerr9fignt tplAwick frruwrEf Tifera- 
4,14 wr Trru91triT I 	 2x4=8 

(i) zgl-Rt 

(10 	41 

010 mw? 	 

(iv) iic +1  

(c) arthed'ES 	ttgtl ci46iHt AlifffivzhirFr 
trpnuf 	ilc-tql,cfc't,19-0I-EriT I 	4x5=20 

(i) 915FTWR9:  chtiam: 

W1-1-4  eqrn : I 

(Ili) Voctom SINt g to49 I 

(iv) tl4f 	TRui TM': 

(v) Aciitiqn) Ef1a-*-TIT3TT: I 
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(d) 311e7R1771 lUBiriiMT*f 	s1qnl4i. 

t14-11eN11-11 4 thirdP:1 I 	 3x5=15 

(i) wr-4mm 

Itilqq.-c-Ilski 

(iii) tchrelit I 

(iv) 97F4ql,-11 t11-Illt. 

(v) q-471- 31-10: 

(e) Waret-Cdr9i 	  A— 

4x3I=14 2 

3ri -9.Trt-ffr 

(1i) v;tilsqougil: 

(iii) 31 	fug I 

(iv) chichi-Full: 	d 

2. (a) Ifi% q-71:(4 	I 	II 9LI I 	 I 

cIltlIntlit I 	 30 

(b) Mlrma,tit1+cl TRIT-AzTITEAW1 t717-5TR-47- 

4-ild 	tei 	ta -iogitixiiri 	7FFU1IT I 30 

3. (a) '41-RsitdA T*TVR .110411 31-1WE 111 rclq 

19-qrtfr 11*-7-d-pi I 	 30 

	

(b) chi eiqiticpcit-i 	 4404 cfrig 

fqthEraTIT 
	

30 
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4. (a) 1,114 	 I - +~UII  

irltt4l 	 30 

(b) a-dog -11.14-u.i.bitIct I tl 	4-Icrichlt: 

— rl1cbtui folt-HE Shl I 1-1q 41 g44-I, I 	30 

Section 'B' 

	

5. 31}.n•Walpt7Tliii;titigevi4cv-e4i tit 	 RI 9MB-ft 

70* 175-4q4 	fkRici fffwErgir qc-goiii, I 30+30=60 

Write two essays in Sanskrit in about 175 words each 
taking any two of the topics given below : (Write in 
Devanagari script only). 	 30+30=60 

(a) 4'70: @Tr 	9c  t-k-uci. I 

(ID) ten4i-ii 4,11,-qt4 	fa=nil qt. 	twil Actot 

.143/4 icaft 

(c) *tA41dli-19r9i9-4erAm—d— TETT: 

(d) Wr-dUTIttilkur 1;miqd4 Ritft a Tkvirral: 

H+il 	it id l I 
(e) fiT✓ t Pahl Artili RITzr 	54111T I 

6. (a) 31Wa* 9R-d14 	titcniti 	ct) 	 

frmr5riT I 	 30 

(b) ITRTM ti1-1151.11 4 41 rrld1 77-94-49.-4)(41 

tvt ikr<ti<4 o ft( I 
	

30 
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7. (a) isftriviiNwhillt 141 qc-1 411.1ch 41 %tit- 

alrffriT I 	 30 

(b)   	7714 ti449, WIfx114 arelffra.  41+1  

	 9R14ivoi 4i, 	 30 

8. (A) areAR44 kgr-af frizniquP1 u-aFf7 
3gr9TP emit tstRici 	 5x6=30 

Read the following passage carefully and 
answer the questions given below in Sanskrit 

and write in Devanagari script only. Answers 

must be in your own words. 	5x6=30 

q11;Ir1 Waitftirgth; 	rd3/41 

	

arfrn 1411 9W: tft 	 
WWai-P-Y4M-4 I IT arrcia-: 4.4184)-114-m-ritA 

	

uft   ? 4 R-ffrt-4 ZfarEit 

3TNPTTPAWFTTzf FirctichRui 
qw—Aescui 	 !ar9m--44srOr sit Tr4PT 

-19,0?t4 44170 fiq: riga-KW 	411-1 1 
ro-r Tee*: FreusqwqI 1-*-  
Rffil-rwsht-ffvFmir 
m-r-Proft-4 i 	1111*blc4 1:1TRI a1tc414  

	dcRlsicrediTIV: I Si4TW4Td7 
arNISTRIIShoVti I 	 e114 RitaPecr-6-1 

(a) critLi 	f;A 	chz1isr. ?T.-4k eita. 
4ErraalT ? Tri:9 1:ffra■l" zur-asti 

? 
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(b) *133freici gltllsWaeru: ? 	 1447: 
arutzri 	 ? 

(c) 3*: chdii: twists: ? 	ate: ? CW-1 
fiRi11401•141141(1 ? 

(d) 4-sfm:r9: ? 	TR:9 fZ:II=.1 	wr4 

TF4 Pidkciiht ? Tzi 	N-mar ?  of 
CleN Arlri ? 

(e) acrd 4iuscar3TP:1 rk.114 drg 	CM I: ? 
	 ? r 	 deg fctroichkup-i  ? 

(f) ce0togiq, 474 aiW 
TO-tI mod:  	? 

	

(B) artheelTd th4 ffizrtratiTzi 9-11R17  ~qri 	1I 

NFP:Sfit 1171717rtitiTRTrii4iti4-1hT7kEiTt I 
5x6=30 

Read the following passage carefully and 
answer the questions given below in Sanskrit 
and write in Devanagari script only. Answers 
must be in your own words. 	5x6=30 

ITR-Taisfizr .-II40,4-1 I 	
1-10t14114411(41 I rill-1.14 W4 -  

1-111-1 	11c41 I 1:1----eiaffiircurTq: 

ciTraa)-1-THR-Frsf-c17-rwirathq-ofZ-1,4)elAri 

kroi 	 : fff fttr9-trr-FT-4T-4 

fawh- I Aitcorcrilqr 4141-p4-  u-A-cr* 

ticIlittilliq*y* 
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ailrl 	a4t14  crus 
va9-?ev-r 

arkdiqr, %tar, tlwa1la1FIv4t4 

a I gvar W3T: kITST: T411I RAI aReantsquuli 
th*-11Pirirmiqr, 9Aicbticicti413q I 

TraWT7974a firri vi ti+-4+Iha1vfitl1ct 
TiT911-4-q-64 
Trfl 4T T: t14114IN 	 14qatrucicittqf 
	arrurr-imak9Fzrr: trkimftdam 

(a) ireT3ITERT3/4'3T: ? 

(b) °,&c') cht4 1113111ftc ? 

(c) chlqpwr: kaa 4ii*ctu er-orrikM ? 

(d) (11•11 rit11(14101I eaci 7trzfrdTr( 

(e) 1943114I1: TIT4-417T: ffl" croi 41111"rr.9 rCI frf ? 

(0 4-0:14W0111: RT4 gifT;T: 3119 ? 
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